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INEQUALITIES: Absolute Value Inequalities
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1 Which equation states that the temperature, t, in a room is less than 3° from 68°?
(113 —th<68 (3)168 —tl<3
0601070 (2) 13 + tl < 68 (4)168 +tl< 3

2 What is the solution of the inequality |x+3|<57?
(1) 8<x<?2 (3) x<-8or x=>2
(2) 2<x=<8 (4) x<—2or x=8

3 What is the solution of the inequality ‘y+8| >3?
(1) y>-5ory<-11 3)-ll<y<-5
(2) y>-5 1 -5<y<l1l

4 What is the solution of the inequality [2x—5|<17?

(1) x<3 (3) x>-3
(2) 2<x<3 (4) x<2orx=3

5  The solution of [2x—3| <5 is
(Dx<-lorx>4 B)yx>-1
(D-1<x<4 D x<4

6 ‘What is the solution set of the inequality | 2X— 1| <97
ooon (D {x]—4<x<5} 3) {x|x<5}
(2) {x|x<—orx=>5} @ {x|x<—4}

7 ‘What is the solution of the inequality ‘2x75| <117?

8 ‘What is the solution set of the inequality |3 - 2x| =47

0603186 (1) [X|%S xs—%} 3) {xI ngé OI'XZ%}

1 7 7 1
2 | ——=x=<—= 4 Ix<—orx=——
(2) {x > x > @) {xlx > or x 2}
9 I'he solution set of |3x +2‘ < 1 contains

(1) only negative real numbers

(2) only positive real numbers

(3) both positive and negative real numbers
(4) no real numbers
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